Pg. 137 Answers
1. BE and CG are parallel.

2. CA and HR are parallel

3. JO and LM are parallel

4. PQ and ST are parallel

5. X = 30

6. X = 50

7. X = 59

8. X = 31

11. Yes, Converse of Same Side Interior Angle Thm

12. Yes, Converse of SSEAT

13. No

14. Yes, Converse of Corresponding Angles

15. No

16. Yes, Converse of AIAT

17. Yes, Converse of Corresponding Angles

18. Yes, Converse of AEAT

24. x = 5

25. x = 20

26. C

28. x = 10, <1 = 70 and <2 = 70

29.  x = 5, <1 = 50 and <2 = 50

40. Will do in Class. 

